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Use the Read–Draw–Write process to solve each problem.

1. Julie buys ​1_3
4  ​    ​​ pounds of apples and 2.5 pounds of pears. How many pounds of fruit does 

Julie buy?

2. Ryan has 5.83 meters of rope. He uses ​ _32
5 ​     ​​ meters of the rope to make a swing. How many meters 

of rope does Ryan have left? Write the answer as a decimal number.
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3. Jada’s car for a wooden car race is ​2 _78​     ​​ inches wide. The wooden car race rules say the car must 
be 2.75 inches wide.

a. Does Jada’s car follow the rule? Explain.

b. What is the difference between the width of Jada’s car and the width in the rule? Write the 
answer as a decimal number.
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